BK Opalen

Barometer Hcp 24-28 Brickor 2024-02-01

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac  Par Poéng % Namn MID Klubb
1 8 141.7 65.60  Bengt Sorensen - Vega Slottner 86943 86942 BK Opalen
2 7 122.5 56.70  Nicklas Widhja - Stefan Lilja 25146 20858 BK Opalen
3 6 120.9 55.95  Matti Aalto - Jan Svensson 57497 203414 BK Opalen
4 2 116.5 53.95  Ingrid Haglund - Margaretha Elinsdotter 19518 30995 BK Opalen
5 10 107.3 49.66  Per Eklund - Liselotte Fondelius 62939 21498 BK Opalen
6 1 104.0 48.16  Christina Bjerklin - Mari-Ann Stenberg 15096 11239 BK Opalen
7 4 103.6 47.96  Vivi-Anne Malmqvist - Tommy Malmqvist 52956 52955 BK Opalen
8 5 94.7 43.82 Bjorn Ekblom - Lisbeth Quisth 32366 87306 BK Opalen
9 9 89.1 41.26  Alf Putzen - Tommy Rydberg 45860 45857 BK Opalen
10 3 79.8 36.92  Kaj Sorensen-Klange - Klas-Anders Karlsson 66421 203011 BK Opalen
1 « EKD863 Bésta kontrakt 2 & Kn65 Bésta kontrakt 3 & KKn98 Bésta kontrakt
Nord vE5 4¢ OD-1100 Ost vE972 3NT O =-400 Syd v K93 3v V =-140
Ingen + D6 NS 4542 ov + D863
%854 & ¢ v & NT #Kn72 & ¢ v & NT *94 & ¢ v & NT
45 & Kn42 N6 4999 4ED82 473 N3 43514 a2 4« E765 N27 4605
v 103 v K764 S64999 vKn83 K105 S 343514 vE8765 vKnl0 S27 465
4987532 ¢ EKn4 06 9222 ¢108 ¢ EK963 O 109 9 8 9 ¢ EKKN10 ¢2 O 105 9 7 6
#K632 #DKn9 V69222 K984 #ES53 vV 109 9 8 9 *875 #DKn10632 V 105 9 7 6
41097 4 K1094 4 D1043
v DKn982 v D64 v D42
+ K10 ¢ DKn7 49754
#E107 «D106 *EK
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
8 3 44 N= ¢ A 420 8.0 0.0 83 20 O+1 aT -110 8.0 0.0 8 3 24 N-1 v] -50 8.0 0.0
6 5 34 N+1 a2 170 6.0 2.0 6 5 INO+1 a4 -120 6.0 2.0 65 2v V= *9 -110 6.0 2.0
47 44 N-1 *Q -50 2.0 6.0 92 INO+2 v4 -150 3.0 5.0 101 2NO= +5 -120 4.0 4.0
92 44 N-1 *A -50 2.0 6.0 10 1 INO+2 +Q -150 3.0 5.0 92 1v V+2 *9 -140 2.0 6.0
10 1 54 N-1 *Q -50 2.0 6.0 47 3NO= 49 -400 0.0 8.0 47 1v V+3 *9 -170 0.0 8.0
4 s K4 Bésta kontrakt 5  E£108632 Bésta kontrakt 6 & EKn5 Bésta kontrakt
Vast v K43 6NT N =1440 Nord v KKn 64 S =1430 Ost v DKn874 5v S =450
Alla * K2 NS + ED103 ov *4
#D109843 & ¢ v & NT *7 & ¢ v & NT #EK76 & ¢ v & NT
D32 4Kn8765 N 1210128 12 454 4 Kn7 N8 9 111111 4 K9643 4D82 N7 7 116 8
v9865 vD2 S 129 128 12 v D42 v 8653 S 9 10111211 vK652 v- S 7 7 116 8
¢D97 ¢ Kn1065 013141 ¢ Kn964 ¢ K82 043212 + K6 ¢DKn1087 O 6 6 2 6 5
#KKn5 #76 V13141 #EDKN5 #8432 V43212 «D2 #Kn9843 V66265
4 E109 4 KD9 4107
v EKn107 vE1097 vE1093
+ E843 +75 ¢ E9532
*E2 #K1096 #105
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
13 3NS+3 &5 690 40 40 7 6 44 N+3 2 710 8.0 0.0 10 2 5v N+1 +Q 480 8.0 0.0
58 3NS+3 v5 690 4.0 4.0 13 44 N+2 2 680 3.0 5.0 76 4y N+1 2Q 450 6.0 2.0
7 6 3NS+3 v5 690 40 40 5 8 44 N+2 2 680 3.0 5.0 58 3v N+2 a2 200 3.0 5.0
9 4 3NS+3 v6 690 40 40 9 4 44 N+2 2 680 3.0 5.0 94 2y N+3 +Q 200 3.0 5.0
10 2 3NS+3 »5 690 4.0 4.0 10 2 44 N +2 2 680 3.0 5.0 13 4¢vN-1 a2 -50 0.0 8.0
7 4765 Basta kontrakt 8 4 864 Basta kontrakt 9 41097 Basta kontrakt
Syd v D962 34 V =-140 Vast vE974 ANT N =430 Nord v Kn87542 7NT O =-2220
Alla + K102 Ingen + 95 ov + 84
#Kn87 & ¢ v & NT #E873 & ¢ v & NT 92 & ¢ v & NT
& EKn2 4 D1043 N3 4545 4107 4 Kn2 N7 6 7 1010 4 EKKn62 484 NO13O00O0
v- v EKn754 S 34545 vKnl108 vK532 S 76 7 109 v ED9 vK S01300
+D98765 ¢4 O 109 8 9 7 ¢ K72 ¢ E8643 06 7 6 3 3 ¢ Kn53 ¢ EK1096 O 1312101313
#K1062 &E54 vV 109 8 9 7 #Kn9642 #K5 V678633 *43 #EKDKn7 VvV 1312101313
& K98 » EKD953 D53
v K1083 v D6 v 1063
¢ EKn3 + DKn10 ¢+ D72
«D93 +D10 10865
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 3 3NV-2 a7 200 8.0 0.0 6 9 24 S+2 2 170 7.0 1.0 87 66 O= 43 -1370 8.0 0.0
24 44 0-1 ¢ A 100 6.0 2.0 8 7 24 S+2 v] 170 7.0 1.0 15 6NV= v4 -1440 4.0 4.0
15 2v0= *3 -110 4.0 4.0 10 3 34 S= +K 140 40 4.0 24 6NV= v8 -1440 4.0 4.0
69 2vS-4 +6 -400 2.0 6.0 15 44 S-1 vl] -50 1.0 7.0 6 9 6NV= v4 -1440 4.0 4.0
87 3NO+1 v3 -630 0.0 8.0 24 44 S-1 +K 50 1.0 7.0 10 3 6NO +1 8 -1470 0.0 8.0
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10 s E4 Basta kontrakt 11 41082 Basta kontrakt 12 49765 Basta kontrakt
Ost vE83 5NT S =660 Syd v D97 3v V =-140 Vast v 103 2NTV =-120
Alla + KKn874 Ingen + KD65 NS + E852
#EKD & ¢ v & NT #1082 & ¢ v & NT «KD8 & ¢ v & NT
« KKn1087 4 D532 N8 8 116 11 4 KKn73 4 D96 N58457 «D & KKn2 N6 5585
v2 vKn9 S 8 8 116 11 vE82 vKnl0654 S 5 8 4 5 7 vK74 v ED652 S6 5585
¢ D65 ¢+ E1032 044161 4987 +10 085985 ¢+ KD1096 ¢ Kn7 O7 8858
#10542 #986 V44161 #Kn76 #ED54 V85985 #Kn732 %654 V78858
+ 96 4 E54 4« E£10843
vKD107654 v K3 v Kn98
+9 ¢ EKn432 +43
#Kn73 #K93 #E109
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
10 4 6v S= v2 1430 8.0 0.0 98 3vyDO-2 +A 300 8.0 0.0 71 3v0-1 v8 50 8.0 0.0
35 3NN+3 +3 690 6.0 2.0 26 INS+1 3 120 6.0 2.0 10 4 34 S-1 +K -100 6.0 2.0
71 4y S+2 +5 680 4.0 4.0 71 INS= +9 90 3.0 5.0 26 1lvO+4 43 -200 4.0 4.0
26 4y S+1 48 650 1.0 7.0 10 4 INS= a7 90 3.0 5.0 35 3NO+2 48 -460 2.0 6.0
9 8 4vy N+1 43 650 1.0 7.0 35 2NS-1 3 -50 0.0 8.0 98 4vyDO+1 &A -690 0.0 8.0
13 4 D985 Basta kontrakt 14 4 K83 Basta kontrakt 15 4 K9843 Basta kontrakt
Nord vD9753 5NT O =-660 Ost v 973 3NT O =-400 Syd vD5 3v V =-140
Alla *4 Ingen + K93 NS + 1075
*K74 % ¢ v & NT »K842 & ¢ v & NT »E82 & ¢ v & NT
» EKG6 «Kn743 N2 4622 « D74 » Kn5 N27 473 2 Knl10765 - N59 386
vEK10 ¢8 S246 22 vEKDKn854 v2 S27 474 v Kn843 vE1097 S59386
¢ E8532 ¢ K10 O 119 7 1011 | ¢Kn42 ¢E5 O 105 9 5 9 +84 ¢ E93 083 955
»53 #EKNn10982 V 119 6 1011 | - #EDKn109753v 105 9 5 9 »53 #KDKn1076 V 8 3 9 5 5
+102 « E10962 «ED2
v Kn642 v 106 v K62
+ DKn976 + D10876 + KDKn62
*D6 *6 *94
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
82 2NV= v3 -120 8.0 0.0 19 6vyV-3 v3 150 8.0 0.0 19 34N-2 +K -200 5.0 3.0
46 24 O+1 *Q -140 6.0 2.0 8 2 5vV-2 43 100 6.0 2.0 46 44 S-2 v3 -200 5.0 3.0
37 3NV+1 v3 -630 3.0 5.0 105 5v V-1 3 50 4.0 4.0 8 2 34S-2 *5 -200 5.0 3.0
10 5 3NV +1 v3 -630 3.0 5.0 46 3NV= 43 -400 2.0 6.0 105 44 S-2 *5 -200 5.0 3.0
19 3NV+2 v3 -660 0.0 8.0 37 4v0= +8 -420 0.0 8.0 37 44DN-3 &K -800 0.0 8.0
16 D6 Basta kontrakt 17 D43 Basta kontrakt 18 + 108763 Basta kontrakt
Vast vKD32 3v V =-140 Nord v 9853 34 OD-1100 Ost v E9854 4% O =-130
ov + KD83 Ingen + E10952 NS + Knl0
»E76 & ¢ v o NT +10 & ¢ v o N 2Kn & ¢ v o N
« EKN1082 495 N7 74505 4E10876 o- N57 6 86 4 ED52 4Kn9 N3 5765
v Knl04 v E9765 S77 455 vDKn106 vK74 S57687 vK762 v3 S35765
¢ 10962 ¢E5 06 6977 ¢ DKn ¢ K876 0866 46 ¢EK9 832 O 108 6 7 7
#Kn #KD32 V66977 #Kn2 #K97543 V 866 46 *32 #ED109875 V 108 6 7 7
« K743 & KKn952 K4
v8 vE2 vDKnl10
¢+ Kn74 +43 + D7654
109854 *ED86 *K64
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
48 2v0-1 Ly 100 8.0 0.0 4 8 24 S= *] 110 6.0 2.0 10 6 3NV -3 *J 150 8.0 0.0
21 2v0= 43 -110 5.0 3.0 93 24 S= vQ 110 6.0 2.0 93 440= vQ -130 6.0 2.0
93 2v0O= +4 -110 5.0 3.0 10 6 24 S= vQ 110 6.0 2.0 21 3NV= v4 -400 2.0 6.0
57 2vV+l +K -140 2.0 6.0 21 34S-1 *J -50 2.0 6.0 48 3NV-= *J -400 2.0 6.0
10 6 4#S-3 LY\ -150 0.0 8.0 57 34DS-1 &J -100 0.0 8.0 57 3NO= vQ -400 2.0 6.0
19 4764 Basta kontrakt 20 45 Basta kontrakt 21 # K632 Basta kontrakt
Syd vEK 2NT S =120 Vast v 87654 3NT V =-600 Nord v EKn2 44 N =620
oV ¢+ EKD74 Alla ¢ EK52 NS ¢+ Kn
#Kn54 & ¢ v o NT #Kn102 & ¢ v &N #ED1072 & ¢ v &N
«KD5 4109832 N8 95 48 » EK9 « DKn64 N455 34 a4 « ED85 N 8 6 10106
v1043  vKn9875 S895438 v- v EKD92 S45534 v K65 v 87 S 7 6 10106
¢ Kn862 ¢ - 053884 ¢+ Kn74 410983 06 8889 ¢ KD1043 ¢ 9876 057 335
«D73 *EK9 V53884 #K976543 #- V68889 #9653 +K84 V57335
# EKn + 108732 + Kn1097
v D62 v Kn103 v D10943
+ 10953 + D6 ¢ E52
10862 «ED8 *Kn
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
14 INN+2 v5 150 8.0 0.0 14 340-1 +Q 100 7.0 1.0 59 4v S= Ly 620 8.0 0.0
10 7 3¢ N= oT 110 6.0 2.0 68 3v O-1 +Q 100 7.0 1.0 10 7 2v S= +K 110 6.0 2.0
59 24 V-1 ¢ A 100 4.0 4.0 59 3NO= a2 -600 3.0 5.0 68 3vS-1 Ly -100 4.0 4.0
32 INN= *A 90 2.0 6.0 10 7 3NO = a2 -600 3.0 5.0 32 44 N-2 +9 -200 2.0 6.0
6 8 3NN-1 v5 -50 0.0 8.0 32 3NV+2 ¢ A -660 0.0 8.0 14 4vS-3 a4 -300 0.0 8.0
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22 4 D76 Basta kontrakt 23 4 D9 Basta kontrakt 24 4 K9876 Basta kontrakt
Ost v EKKn76 5NT S =460 Syd v EKD 5NT S =660 Vast v Kn1098 6NT N =990
ov + Kn5 Alla + KD Ingen + KKn10
#ED9 & ¢ v & NT #KKn10852 & ¢ v & NT »7 & ¢ v & NT
32 «EK10854 N 9 9 108 11 4 E1086432 4 Kn N 105 106 11 4 D2 4« Knl10 N 128 101212
v10953 v42 S 9 9 108 11 v 82 v 1076 S 105 106 11 vK743 v652 S 128 101211
+ 109 ¢ K762 022252 ¢ Kn97 + E86432 017172 48543 ¢ ED976 015311
#KKn642 #10 V22252 *7 #D43 V17172 #854  #Kn93 V15311
4 Kn9 4 K75 & E543
vD8 v Kn9543 vED
+ ED843 ¢ 105 2
#8753 *E96 #EKD1062
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
4 3 4v N+1 s A 450 8.0 0.0 4 3 54DN= *A 750 8.0 0.0 25 64 N= *A 980 8.0 0.0
79 3v N+2 &T 200 6.0 2.0 25 5vS+1 *7 680 6.0 2.0 4 3 44 N+2 ¢ A 480 40 4.0
25 34 N+1 s A 170 3.0 5.0 79 4v S= +9 620 40 4.0 6 1 44 N+2 v6 480 40 4.0
10 8 3v N+1 LY 170 3.0 5.0 6 1 4 N= ] 130 2.0 6.0 10 8 44 N+2 *A 480 40 4.0
6 1 3v N= &T 140 0.0 8.0 10 8 5# N-1 ] -100 0.0 8.0 79 5v N= *A 450 0.0 8.0
25 4652 Basta kontrakt 26 aKn Basta kontrakt 27 4 D652 Basta kontrakt
Nord v 10762 3¢ N =110 Ost v 85 4¢ S =130 Syd v972 7v V =-1510
oV + 1092 Alla + K863 Ingen + D854
#K95 & ¢ v & NT #KDKn1097 & ¢ v & NT «104 & ¢ v & NT
« EKD1074 #4983 N8 9 85 6 |497 «E108642 N 10105 7 5 493 « EKKn8 N31011
v D43 v K95 S 8 9 85 6 |vYEKKn10972 vD4 S 10105 7 5 vEKKn10 vD84 S31011
¢ 74 ¢ KKn8 O5 4587 |42 ¢+ D97 03186 3 ¢ E102 ¢ K973 O 1012131212
*62 +D874 V5357 6 |#43 »85 V31863 #E732 &K5 V 1012131212
& Kn &« KD53 41074
v EKn8 v 63 v 653
+ ED653 + EKn105 + Kn6
#EKN103 *E62 #DKn986
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
72 3¢ S= s A 110 8.0 0.0 54 4v V-2 &K 200 7.0 1.0 54 6NV-1 a5 50 7.0 1.0
18 24V-1 »5 100 3.0 5.0 10 9 24 O-2 v6 200 7.0 1.0 72 6NV-1 +5 50 7.0 1.0
36 34V-1 *T 100 3.0 5.0 18 4¢ S-1 vA -100 2.0 6.0 36 3NV+2 +8 -460 4.0 4.0
54 3s4V-1 »5 100 3.0 5.0 36 5&N-1 vQ -100 2.0 6.0 18 3NO+3 *Q -490 2.0 6.0
10 9 44 V-1 *T 100 3.0 5.0 7 2 5&N-1 s A -100 2.0 6.0 10 9 3NV +4 *4 -520 0.0 8.0
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